20.

21.

22,

23.

24.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Test the equation e dx+ (xey +2 y)dy =0 for
exactness and solve if it is'exact.

evdx + (xe"' + Qy)dy =0 creary soaTUTH  HiOSIWE
FOATUNE erendanlly. Siey smer.

Solve : (D3 -2D +(4)y =e" . cosX.

| Birdsss : (D342D+4)y=e’°-cosx.

: dx . dy %
Solve: — +2x -3y =1 —-3x+2y=e".
olve dt+ X -9y il Xx+zy=¢

&r&e %+2x—3y=¢; %—3x+2y‘=e2’.

Solve by Lagrange’s Method

pxly? + z)— ayle? + z); ol - ).

p'x(yA2 +2)- Qy(xz +2)= 2lx? - »?) e
Farun oL QaarmEsa (paplilly Siés.
Solve by Charpits Method
p*+q®-2px—2qy+1=0.

p*+ qz -2px—2qy+1=0 eemp EFLETUTL gemar
gnmdie pamiuly Siés.
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Time ; Three hours -

\Ma)‘(imum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define linear equations.
Criw FLOETLTE GTETLIMS UL

* Define exact differential equations.

gl FwETUT(H GTaTLIMS GUaTLIDI.

Write down Clairaut’s form.

SeanaTenFLcv GUlgeULD GTETLINS GT(LPSIS.

Find the general solution of (D3 -3D%+ 4.)y =0,
(D3 -38D% + 4)y =0 ereip swETUM Igan AUITESSTama
&GRS 2 ‘
Find the particular solution of (D'2 +bD+ 6)y =e”.

(D2 +5D + 6))' =e* eamp swerumindar  ApriLs
Sieneus STENs.

Solve: y=(x—-a)p-p*.

885 ¢y =(x-a)p-p*.

A, PO s ) —_ D ta =20 eaw.,&ém



10.

11.

12

13.

Define simultaneous equation.

@b L SHTEr FGTLTH 6Teliens euenqim).
Solve : y, —4xy, + (43c2 _3ly=e

8168 1 y, —4xy, +'(43,c2 - 3)y =e*

Defiﬁe general integral.

Qungening Gg,rrms;uﬁ@ GTeTUEMS GUETILI).

Define singular integral.

o@ws AsTasui( earums aampum).

Find the complete integral of the equatlon

r=yq".

p=yq" eTaimD
G\g,rrma;uﬁl'_ml_é; & ITEHT S,

FLDGITLIML lg 65T

Pamns

Write down the auxiliary equation of Charpits
method.

FMAav a6 gleammEsoamIT L STams:
PART B — (6 x 5 = 25 marks)
Answer any FIVE questions.

Solve : -dl-t yCosx = lsin 2% .
dx 7 pmck

_dy r I e
&g : ——+ yCOSX =—sIin2x .
5 dx e 2
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14.

16.

16.

17.

18.

19.

3
Solve : xp?-2yp+x=0.

&ies . xp® —2yp+x=0.
Solve : (Dz -4D+ 3)y =sin3x '\éos 2% .
8iiés (D2 -4D+ S)y =8in3x - cos % .

Solve : y=xp+x(1+p2)%.

Sirss : 'y;xp+x\(1+p2ﬁ.

- dg ) y x
Solve : x dx, —(@x- 1) 2+ (- l)y =e".
dy dy ;o =
2x -1 ~1l)y =
S : . xdx -(2x - )dx +(x-1)y
Eliminate arbitrary

constants from
z=(x+a)y+b). : '

z=(x+a)y+b) e ELDGGTLIITI_lq.GIS]@‘EQI aCgims
wrflelsmer fs@s. -

Find the complete integral of p + g=x+y.

D+q=x+y )
Qsravsli L& sramns.

FLDGHTLITL I 64T

Yo
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